MOLD EXPERT WORLD

N Kig | REAOLEDE 9siol
'” Vertical Injection Molding Machine for LED Products

"\ L
MEW (Mold Experts World)

S M2 3| HEYHE Bsls S
=

o
A7, M= 2ok il 7|=S ME=sl L7t

( Mew Lo  UEEOA M7 BECHR 208-1 (I M7 JHEHS 602-7)
SVVEmWW (X)L ES  TEL(032)575-0317 / FAX(032)575-0319 / E-mailimew.21@hanmail.net < me
\ MOLD EXPERT WORLD (

F)HoltER



:!o'!xew (F)HolHER
——

2015. 01 C-FRAME TYPE Z2 £2{0|= g&d7| 24

2016. 02 MVP200-2MS KCS
2016. 04 MVC18-SP5V KCS

=
S
=
[

2013. 10 MVC150-SL KCS 215

2013. 05 SHlZ YA S5l =8

2014. 11 MVTR350-VC KCS 215 (FIBCHAMBER EML)
2014. 03 MVC35 KCSRI&

MVTR380 KCS 2I& (TRANSFER &37])
MVR100-3T KCS

MVR120-3T KCS

MVTR270 KCS 2!

(TRANSFER A&7

MVP100-2M-SL

KCS5&=

MVC100-ACC KCS 25 &=
MVCB0-HV10 KCS 2I5=l5
MVCB0—HV10 72 At
BMC 28 AtE7| 2L &= 7Hgt
MH250 KCS &=

2010. 12 BMC CiE A A=Y
(MVP100—-2M—SL) = == 7t
2010. 04 MVC100 ZEAME7| 0L
2010. 03 & o|H=R &8

BMC &3 A=7|(MH-SERIES) =L Z|= 7Hgt

71E5d & AMHAMAL STt

ISO9001:2008 &=




| S MEW 2 015
MH BMC ArESAdi7|

Series BMC injection molding machine

—

h =] S
-" I =1 O q = H n = = — %l G} T
= L{Ot2d SCREW CYLINDER BI-METALZ &2fsto oFdd 3 SCREW =3 A& — T T
= AEHR|2| &5t MODULATIONS et dA=glo= refet 27 H gl tis ] i - = = = ﬁﬂ i
E

- - E
= X0l B2 M7 U UNITS| BHXIZ 717l ST & A39| &|Ast . 5 o

= BMCAIEA| 8 AE(2.7Kg0I)0| 7HsstH, MEREHZ RS ASae=M MY 2 FHHo| &

MH AJ2|Z 2|7 JIE | 1 SERES SPECFICATION

MH250SP 4800
MH300SP 1450 5050 5655 3500

MH A|2[X TABLE SIZE | IH SERES SPECIFICATION

MH250SP
MH300SP 1060 1060 705 705 300 100 300 100

MH A[B]Z AF2F [ 1 SERIES SPECIFICATION

MODEL UNIT MH250-SP MH300-SP

A32 ELQ SCREW TYPE A A
A3 7 [ 23 SCREW DIAMETER | mm 45 50
AEE212 INJECTION PRESSURE Kg/Cme 2613 2304
O|2AE2 INJECTION CAPACTY | Cm® 524 687
AES  INJECTION RATE Cmdsec 23 253
AEZ2Z INJECTION WEIGHT q 472 618
A& AE23 INJECTION STROKE mm 300 350
=Z AE23  NOZZLE STROKE mm 400 420
A32 5|4 SCREWREVOLUTION | rpm 0~100 0~100
22 CLAMPING FORCE TON 250 300
SH AE23 CLAMPNG STORKE = mm 300 350
FA 28 MOLD THICK.(MIN) mm 330 280
Fo) & OPEN, STORKE(MAX) mm 1120 1250
EfO|H} 72|  TIEBAR DISTANCE mm 605 %605 700%700
0f%Ef E52  EJECTOR FORCE TON 53 53
OfMEf AE23 EJECTORSTORKE | mm 175 175
HZ7| 8% MOTOR CAPACITY Kw | 15Kw-1EA/3Kw-1 = 15Kw- 1EA/3Kw-2
5[E| 82 HEATER CAPACITY Kw 26Kw 26Kw
AR2 F9f  WORKING VOLTAGE v 380 380
A2 243 WORKING PRESSURE BAR 140 140
83 82F TANK CAPACITY [} 360 400
7I71| 37| MACHINE SIZE mm | 1300x4800x 3380(MAX.) 1450 %5655 x 3500(MAX.)

S HZ 2E  MOLD CLAMPBOLT | mm M20 (T-BOLT) M20 (T-BOLT)
7I71I 2 MACHINE WEIGHT TON 105 134

* 2 A2 HZ ZX S 2lstod ol n3lo] HEE 4 Q&L
This specification is subjected to change for improvement without a notice.

04 | (F)HoEER MOLD EXPERTWORLD | 05




:!!!Em (F)dolciER
—

MVTR\| EMC ArEAddo) i .

Series EMC injection molding machine ﬂ

W [
i o
13 T 1y
g vutetet | siegeld @
Il 1] 3 e | o
S 2829 P25 2529

M=l EF 0
= (=] Q ?
0000t | savaver
seatees | eescess A
PO RN

= Z|DO|BIER| LED MZE ¢I8t 5l0[H2|= ERAL S ZA
= A5} DRSS A HEZO) A ZAU YRiH0] L SEHO| AL X8 e
A B A
n 7| ARE HZE S W2 ARS0| HREE SMRQI 7|0 FH|
n Y e MMF DSAET| ME CONTROL SYSTEM ITALY, GEFRAN EXY MVTR AZIZ 27| FIZ | VIR SERIES SPECIHCATON
= oz 38 hzol o2 UREoRM 38 U Tl 25 It e 1o 1o 506
= e 20S =5 HATE &g
= MEZE 27HS B, RS ot0] EHAM MEA| B2 AE WTR2Z0 1400 1800 2510 750 780
 UE XZ A s (8M M@) MVTRIS0VC 1600 2300 2631 1201 780
WTR3B0 =~ 1440 1900 2510 1131 780

MVTR A[E[Z TABLE SIZE | MVIR SERIES SPECIFICATION

,, 715 A B C D E F (€] H |
[
s S . MVTR270 1160 940 825 605 180 4 510 % M16
/ L Q_ﬁ‘; g ) MVTR350-VC 1280 1060 830 610 180 4 510 % M20
L NEW |
1 : il §|_ [ (\ r\ iﬁ—— MVTR380 1200 980 825 605 180 4 510 2 M20
= QIIIEIII 7 ; MVTR AJ2[Z AFSE | VIR SERIES SPECIFICATION
MODEL UNIT MVTR270 MVTR350VC MVTR380
ZUM Z PLANGER DIAMETER mm | 035-M24x3PTAP 040 - M24 x 3P TAP 340 - M24 x 3P TAP
EMAT 3 TRANSFER TONNAGE  TON 7 7 7
EYAL AEZS TRANSFERSTROKE  mm 350 350 350
EMAD] AF2QI2  TRANSFER PRESSURE | KglCm? 140 140 140
EMAL & TRANSFERSLOW  mmisec 0-25 0~25 0~25
EWAH 14 TRANSFER FAST mmisec 130 130 130
EYAH 571 TRANSFER RETURN  mmisec 150 150 150
##2  CLAMPING FORCE TON 270 350 380
EH AEZ3 CLAMPNG STORKE | mm 300 300 300
A 28 MOLD THICK (MIN) mm 470 470 470
] 23 MOLD THICK (MAX) mm 690 690 690
Z|Tf &7 OPEN, STORKE(MAX) mm 780 780 780
Ef0|H} #2| TIEBAR DISTANCE mm 825x 605 830610 825X 605
TP AR HEIGET PRESSURE | KglCm? 210 210 210
S A2 CLAMPING PRESSURE | KglCrm? 140 140 140
&I 4% CLAMPING SPEED mm/sec 1~118 1-118 1~118
S 4% CLAMPING RETURN SPEED | mmisec 1-148 1~148 1~148
Of%E 257 EECTORRODDAVETER - mm 024 025 025
Of%IEf AEZS ECJECTORSTROKE = mm 0~65 1-65 165
57| 8% MOTOR CAPACITY Kw 1 35-1EA, 45-1EA ZIZTE{-66 11
5El 8% HEATER CAPACITY Kw 24 192 24
AR 2 WORKING VOLTAGE v 220/380 (88) 220/380 (K12) 220/380 (R12)
AFZ 42 WORKING PRESSURE BAR 140 210 210
83 22 TANK CAPACITY [} 95-2EA 165 - 2EA 95-2EA
714 27| MACHINE SIZE mm 1400 x 2000 x 2510 1600x 2300x 2631 1440 1850 x 2510
28 AZ EE MOLD CLAMPBOLT = mm M16 M20 M20
714 5% MACHINE WEIGHT TON 65 9 75

X 2 AU2 RS0l B2 B4 lotd olmeio] HAEE 4 AUELICH
This specification is subjected to change for improvement without a notice.

MOLD EXPERT WORLD 07




q!!'{g!!'! (F) ol ES
MVRP-4T\ == M‘%*&r%' 7|

Series Rotary injection molding machine

M
= | -
—r { L — '
Q
HZo| S5 @ = h s
=2 ﬁ' w w — | = \[ Q
= 4FA SRS S8 ALS EFUOR ARt ALZ0| 808 A / .
. - = | &
= AR HIBISFIE B HAHAIOR CYCLE TIMES| HE | QU 2 AAS (A5} a N L1 Lol Ll K=
» SHUT OFF TYPE ARBOR QI5t LHTA ShAf A c D
= HOIE 2T=2 A‘IEEH% ArE3510 HHiE M|017} 7S (S4ARY) z
MVRP-4T Al2|= TABLE SIZE
MVRP—AT AI2]|X Z[H] FI& | 1Re-47 SERES SPECIFCATION | MVRP-4T SERIES SPECIFICATION
7|5 A B ¢ . D E 715 A B C D
Max Min
MVR35-4T | 1150 2500 2930 2360 850 490 MVR35 - 4T 700 200 60 250x2
MVRS5-4T | 1330 2700 3150 2555 900 500 MVRS5 - 4T 850 250 80 300%2
MVR85-4T | 1600 3000 34925 27775 900 550 MVRB5 - 4T 1000 260 100 400%2
MVRI00-4T 1600 3000 3700 2940 950 600 MVR100-4T = 1000 260 100 400x2
MVR120-4T 1800 3600 4425 3570 1000 720 MVR120-4T = 1260 340 120 480x2
MVR150-4T 1800 3600 4625 3750 1000 720 MVRIS50-4T = 1260 340 120 480x2
MVR200-4T 1950 3750 4915 3920 1100 830 MVR200-4T = 1400 360 120 5602
MVR250-4T 2000 3900 5105 4090 1130 830 MVR250-4T = 1400 360 120 5602
MVRP—AT A[2|X AFQF | MVRP-4T SERIES SPECIFICATION
MODEL UNIT  MVRP354T MVRP55-4T MVRP85-4T MVRP100-4T MVRP120-4T MVRP150-4T  MVRP200-4T MVRP250-4T
A2 Efel SCREW TYPE S A B S A B S A B S A B S A B S A B S A B S A B
A2 A /SHHSCREWDIAMETER mm 18 25 28 28 % | 35 35 4 46 40 45 50 45 50 5 50 55 60 55 60 65 60 65 70
A3 INJECTION PRESSURE KgCme 1901 | 2007 1701 1882 1982 1695 2450 1922 1511 2355 1803 1508 2307 1874 1514 1828 1745 1554 1834 1544 1411 1761 1567 1485
O|ZAIE8Z INJECTIONCAPACTTY  Cm* 62 | 88 101 84 108 139 189 239 325 212 289 321 255 339 401 315 393 477 398 | 477 571 399 478 572
AEEE  INJECTION RATE Cmi¥sec’ 97 « 99 111 108 117 120 58 74 95 72 94 109 | 8 105 133 118 154 188 136 172 191 133 158 194
AEZZ INJECTION WEIGHT g 51 7 | 84 T 97 119 171 25 280 184 254 3114 224 280 356 281 364 428 351 431 502 32 432 503
A& AE23 INJECTIONSTROKE | mm 160 180 200 200 200 200 200 200
Z AE23  NOZZLE STROKE mm 180 200 250 250 300 300 300 300
A32 584 SCREW REVOLUTION = mm 0~300 0~300 0~300 0~300 0~300 0~300 0~300 0~300
52 CLAVPING FORCE TON 3 55 85 100 120 150 200 250
SH AEZ3 CLAVPNGSTORKE  mm 20 20 230 280 320 320 420 450
A 28 MOLD THCK (M) mm 180 180 210 250 300 300 350 400
A/ 37 OPEN. STORKE(MAX) mm 480 480 560 610 620 620 770 850
3ME X174 ROTATY PLATE DIAVETER | mm 0700 0850 21000 21000 01260 01260 01400 01400
0 RIEf 53 EJECTOR FORCE TON 17 27 27 27 43 43 43 43
OfXlEf AER3 EJECTORSTORKE | mm 80 100 125 125 150 150 185 185
ZS7| 22 MOTOR CAPACITY Kw 11 11 15 15 18 18 2 30
SEf 82 HEATER CAPACITY Kw 478 478 65 65 75 9 10 10
A2 HY WORKING VOLTAGE v 220/380 (R2) 220/380 (%) 220/380 (X2 220/380 (R2) 220/380 () 220/ 380 (M2) 220/380 (R2) 220/380 (M)
A2 U3 WORKING PRESSURE BAR 140 140 140 140 140 140 140 140
B3 82 TANK CAPACITY [} 180 180 240 280 300 350 540 610
713 27| MACHINE SIZE mm | 1100x2000x1900 = 1275x2200x2100 = 1400x2500x2250 = 1400x2500%2250 | 1625x2750x2400 = 1625x1065x2500 = 1850x3000x2850 | 1850x3100x 2900
28 %2 ZE  MOLD CLAMPBOLT = mm M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT)
7|41 5% MACHINE WEGHT TON 25 33 41 52 57 65 76 82

* 2 A2 HiEC B S flotod ol nglo] HEE &+ UG
This specification is subjected to change for improvement without a notice.

08 | (F)¥old MOLD EXPERTWORLD | (8

T
njz
e




('T’)ol:‘l‘ 0| E1§'ror MOLD EXPERT WORLD "

:!;ne..w (F)AolER
——

MVR-4T | 2 EZ *I'E* Ali7|
= (o I o)
Series Rotary injection molding machine
™,
Q
W
HZol £ - , -
= AFA SREA, 25 AE YHFOR B2 R A4S o — = | ==
Q
CIALO| &I |ES| HIS 5 O LR QU 2% AAS A[AS il : f =T A

= SAlo] YEIES W HAWAICR CYCLE TIMES T, 2Y 2& 448 34

= SHUT OFF TYPE At2O= QI5t LA SAt = L1 L = EAT s / 5

= ARE B1HO[ 27K, H|TAE/FRTAME 7Is= X ==

A C D
= 14 AHEAI 800mm7HA| THs (SMAKRY \
= E0lZ SH2 NEREIS 510 B2 RO} 7K (S
MVR=4T A2|= TABLE SIZE

MVR—AT AJ2|Z 77 & ] \a-4T SERIES SPECICATION | MVR-4T SERIES SPEIFICATION
MVR35 - 4T 2100 2930 1050 MVR35 - 4T 250x2
MVRS5 - 4T 1150 2250 3150 2555 1100 500 MVRS5 - 4T 850 250 80 300x2
MVRE5 - 4T 1400 2440 34925 27715 1176 550 MVR85 - 4T 1000 260 100 400x2
MVR100 - 4T 1400 2440 3700 2940 1176 600 MVR100- 4T 1000 260 100 400x2
MVR120 - 4T 1600 2700 4425 3570 1446 720 MVR120 - 4T 1260 340 120 480x2
MVR150 - 4T 1600 2700 4625 3750 1446 720 MVR150 - 4T 1260 340 120 480x2
MVR200 - 4T 1850 2850 4915 3920 1635 830 MVR200 - 4T 1400 360 120 560x2
MVR250 - 4T 1975 3100 5105 4090 1635 830 MVR250 - 4T 1400 360 120 560x2

MVR=AT A[2[Z AFQF | MUR-4T SERIES SPECIFCATION

A3 EIY) SCREW TYPE

A3R 74/ EUH SCREWDAMETER  mm 16 18 22 2 25 28 28 2 3% 32 3% 40 3F 4 4 40 45 5 5 5 60 60 6 70
A& INJECTION PRESSURE Ko/Cme | 2611 | 2121 | 2335 | 2333 2134 1774 1717 2211 1830 2212 1845 1601 2085 2000 1671 1994 1855 1748 1655 1633 1410 1656 1633 1410
O0|ZAIE8 INJECTION CAPACITY Cm 16 20 41 41 64 8 80 130 156 | 130 154 201 189 248 310 265 310 399 383 | 465 555 383 465 555

AEEE  INJECTION RATE Cmisec 46 = 49 53 53 62 68 68 74 8 74 &  9f & | of 118 109 138 131 131 160 160 155 192 | 191
AEEZZ INJECTION WEIGHT q 4 18 37 37 58 73 73 118 140 118 140 184 173 222 283 223 283 347 347 420 501 351 420 501
A& AEZ3 INJECTION STROKE mm 80 105 125 150 200 200 200 200

Z AE23  NOZZLE STROKE mm 180 250 260 320 320 320 425 450
A32 34 SCREWREVOLUTION | rpm 0-300 0~300 0~300 0~300 0~ 300 0~300 0~300 0~300
7|2 CLAMPING FORCE TON 3% 55 85 100 120 150 200 250

Si AE23 CLAMPNG STORKE | mm 220 220 230 280 320 320 420 450

A 28 MOLD THCK (MIN) mm 180 180 210 250 300 300 350 400

|§ 87§ OPEN. STORKE(MAX) mm 480 480 560 610 620 620 770 850
3|3E X174 ROTATY PLATE DIAMETER | mm 0700 0850 21000 21000 01260 01260 01400 01400
Of™Ef 223 EJECTOR FORCE TON 17 27 27 27 43 43 43 43

OfME AE23 EJECTORSTORKE | mm 80 100 125 125 150 150 185 185
HS7| 22 MOTOR CAPACITY Kw 75 11 i 15 15 15 2 2

5|Ef 22 HEATER CAPACITY Kw 35 45 65 75 75 9 10 10

AR 2t WORKING VOLTAGE v 220/380 220/380 220/380 220/380 220/380 220/380 220/380 220/380
AR2 2 WORKING PRESSURE BAR 140 140 140 140 140 140 140 140

E§3 82 TANK CAPACITY [} 140 180 260 260 400 400 540 580

7171 27]  MACHINE SIZE mm | 10352100 x 2930(MAX.) 1150 x 2250 x 3150(AX.) 1400 2440 x 3492 5(MAX)  1400x 2440 x STO0(MAX,) | 1600x2700x 425(MAX,) | 1600x 2700 x 4625(MAX) | 1850 %2850 x 4915(MAX) | 1975 3100 x S105{MAX))
=8 HZ EE  MOLD CLAMPBOLT | mm M16 T-BOLT M16 T-BOLT M16 T-BOLT M16 T-BOLT M16 T-BOLT M16 T-BOLT M16 T-BOLT M16 T-BOLT
717 5% MACHNE WEIGHT TON 3 37 49 53 66 7.1 87 95

% 2 A2 HiZQ X Ede 2foto] ofuglo] HAE 4 USLICH
This specification is subjected to change for improvement without a notice.




:!.!!gm (F)HociER
—

MVR-3T | =Ei2| AE/d%7I

44

Series Rotary injection molding machine

xiZel 4
q

n 3FA SEIBA, 47 AE YHHOR T7H MRSl FAd
B SPALO| RIZIEF B2 HHEAIOZ CYCLE TIMES| BHE | 2 2 MES FAst ! - -
= SHUT OFF TYPE AF22Z 0I5t L{TA 3HAt q J = || = | =

< St hi ] & " L 11 ] 1t — | = 9
= 048 AEAl 800mm7IK| 7hs (SMAKE) \ A_ Ik
" B0[Z 3MS MEDEE AR50 #E RI017} 7Hs (SAAR) . i | = | @

[ | | | |
A B D

MVR=3T Al2|= TABLE SIZE

MVR=3T AIB[Z Z[A| &l | \A-37 SERES SPECFICATION | MVR-T SERIES SPECIFICATION

MVR85-3T 1250 2160 2515 1120 MVR85-3T 1075 400x2
MVR100-3T 1250 2160 3245 2560 1165 565 MVR100-3T 1075 295 120 400x2
MVR120-3T 1400 2650 4055 3185 1281 705 MVR120-3T 1260 360 120 450x2
MVR150-3T 1400 2700 4100 3230 1281 705 MVR150-3T 1260 360 120 450x2
MVR200-3T 1560 2745 4200 3330 1300 745 MVR200-3T 1420 400 150 500x2
MVR250-3T 1700 2800 4200 3330 1300 745 MVR250-3T 1560 450 195 550%2

MVR=3T Al2|X AFSE | MVR-3T SERIES SPECIFICATION

MODEL UNIT MVR85-3T MVR100-3T MVR120-3T MVR150-3T MVR200-3T MVR250-3T

AT B SCREW TYPE

AR 7 / SHX SCREW DIAMETER | mm 28 2 35 2 35 40 35 40 45 40 45 50 50 55 60 60 65 70
A= INJECTION PRESSURE Kg/Cm2 | 1701 2221 1889 | 2191 2080 1602 2080 2000 1613 2010 = 1784 1667 | 1828 1704 1445 1841 1777 1434
O|ZAIEZ8% INJECTION CAPACITY Cm? 46 g 81 132 153 212 194 253 311 255 321 399 399 475 571 401 498 568

AES  INJECTION RATE Cm¥sec 66 75 92 74 89 93 88 9% 124 % | 1% 185 | 131 | 158 7 155 1% 197
AEZ2ZE INJECTION WEIGHT q 77 120 W15 144 195 170 21 295 221 287 364 34 44 508 | 3% 461 518
A& AE23 INJECTION STROKE mm 100 100 100 210 225 230
Z AE23  NOZZLE STROKE mm 240 250 250 250 280 280
A32 3|4 SCREWREVOLUTION | rpm 0-300 0~300 0~300 0~300 0~300 0~300
S5 CLAMPING FORCE TON 80 100 120 150 200 250
8# AEZ3  CLAMPING STORKE mm 240 (YHZHB) 240 (YHZHB) 270 (YHZNS) 270 (YHZHS 300 (FEXHS) 300 (FRXNS
A 28 MOLD THICK.(MIN) mm 220(260) 220 (260) 325 (405) 325 (405) 350 (425) 350 (425)
A} 28 MOLD THICK,(MAX) mm 310(350) 310(350) 435 (515) 435 (515) 460 (535) 460 (535)
|C &7 OPEN. STORKE(MAX) mm 560 (600) 560 (600) 710(790) 710(790) 750 (850) 750 (850)
EfO[H} 742|  TIEBAR DISTANCE mm 540x420 540x420 640370 640x 370 700x450 700x 450
0%Ef £52  EJECTOR FORCE TON 27 27 37 37 43 43
OfME| AE23 EJECTORSTORKE |~ mm 75 75 110 110 120 120
- HE7| 22 MOTOR CAPACITY K 15 15 15 15 2 2
5|E| 82 HEATER CAPACITY Kw 478 478 778 103 103 103
AR 2t WORKING VOLTAGE v 220/380 (H8) 220/380 (H8) 220/380 (M) 220/380 (M2 220/380 (ML) 220/380 (M)
A2 2421 WORKING PRESSURE BAR 140 140 140 140 140 140
B3 82 TANK CAPACITY [} 200 200 220 20 280 280
7171 37]  MACHINE SIZE mm 1485x2145x 3503(MAX)  1505x2150x 3800(MAX.)  1505%2203x4035(MAX)  1535x2450x4700(MAX) 1605 x 2650 x 4995(MAX.)
* 2 AZEE  MOLD CLAMPBOLT = mm M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT)
‘ 7171 5% MACHINE WEIGHT TON 35 38 41 43 52 6.1

x 2 AIS2 MZQ 24 B4 floto] of2io] HEE 4 LI
This specification is subjected to change for improvement without a notice,

Jdolci

njz
e

MOLD EXPERT WORLD 13




:mem (F)dociEs
T

MVC | E£34/2HY MVC AE4%7)

Series

High performance vertical type injection molding machine

< | i
T A
HEZo £Y = = ﬂ
W
= AZA| SREA, 25| AE YAIFORZ B2 Heg0 Fas! “ ' F] =
= OISXIS 3} HRIot ZElsl0f INSERTS] A8 0147IX| XS4l 7t L = - OI_TN
" SiAfO] REISH we SE

4r2 SH|EHAIOZ CYCLE TIMES| BHE | QU 25 ASS £|A5}
= SHUT OFF TYPE AF22 = QI5t LA &k ., )

= 14 A=Al 1000mm7IX| 7ts, LED A& st HL Mo HX| (SMAKRY)

s (©|m

MVC AJB[Z Z{H FI& [ /e SERES SPECFCATION MVC A[2[Z TABLE SIZE | M/ SERES SPECFICATION

MVC35 1000 1400 2835 MVC35

MVC60 1100 1200 1700 3110 2490 113 520 MVC60 590 485 400 295 200 200
MVC85 1200 1305 1800 3235 2565 1135 550 MVC85 610 520 450 320 200 200
MVC100 1300 1405 2000 3505 2810 1193 565 MVC100 670 550 460 340 200 200
MVC120 1400 1505 2100 3820 3040 1200 615 MVC120 770 600 555 360 200 200
MVC150 1400 1505 2100 4035 3195 1220 710 MVC150 880 640 640 370 300 300
MVC200 1535 1640 2450 4500 3620 1300 770 MVC200 910 700 675 400 300 300
MVC250 1650 1755 2650 4955 4055 1350 800 MVC250 970 740 720 445 300 300

MVC A[B[Z AFQE | MVC SERIES SPECIFICATION
2 EF) SCREW TYPE

AR % / 2K SCREW DIAMETER | mm 6 18 2 2 25 28 28 32 3B R H 40 3B 4 4 40 4 5 5 5 60 60 6 70

A& INJECTION PRESSURE Kg/Cm2 | 2666 = 2106 | 1410 2683 2078 1656 2875 2201 1840 2201 1840 1409 2703 2069 1635 2069 1842 1638 1803 1629 1369 1631 1422 1202

(

4%

Jdold

njz
40

O0|ZALE8% INJECTIONCAPACTY  Cm® 16 20 30 38 49 6 62 80 9% 80 9 126 202 264 334 264 334 412 442 535 63 586 699 802
AES  INJECTION RATE Cm¥sec 70 89 132 70 = 90 113 106 138 165 138 165 @ 215 | 207 @ 271 342 271 304 342 311 344 409 356 401 458
AEZZ INJECTION WEIGHT g 14 18 | 27 3 44 55 55 72 87 72 8 | 113 182 238 301 238 301 371 398 481 5713 582 627 | 701
A& AE23 INJECTION STROKE | mm 80 100 100 100 100 210 225 230
= AEZ3  NOZZLE STROKE mm 20 220 240 250 250 250 280 280
A32 384 SCREWREVOLUTION | rpm 0~300 0~300 0-300 0~300 0~300 0~300 0~300 0~300
SR  CLAMPING FORCE TON 3% 60 80 100 120 150 200 250
S AE23 CLAMPNGSTORKE = mm = 230 (¥HZHS) 230 (YRAE3) 240 (FExNS) 240 (BHAHS 270 (FEXHS) 270 (HHAHS 300 (FExHS) 300(FHAHS)
A 28 MOLD THCK(MN) mm 205(235) 220(270) 220 (260) 220 (260) 325 (405) 325 (405) 350 (425) 350 (425)
) 28 MOLD THICK (MAX) mm 270 (300) 310(360) 310(350) 310/(350) 435 (515) 435 (515) 460 (535) 460 (535)
[ 370 OPEN, STORKE(MAX) mm 475 (505) 540 (590) 560 (600) 560 (600) 710(790) 710 (790) 750 (850) 750 (850)
EfO|Ht 742]  TIEBAR DISTANCE mm 370x 260 400x2% 540420 540x420 640370 640370 700450 700450
OI®Ef ££2  EJECTOR FORCE TON 17 27 27 27 37 37 43 43
OfXlEf AE23 EJECTORSTORKE | mm 50 50 13 7 110 110 120 120
HS7| 82 MOTOR CAPACITY Kw 11 11 15 15 16 15 2 2
5|E| 82  HEATER CAPACITY Kw 478 478 478 478 778 103 103 103
AR H2t WORKING VOLTAGE \ 220/380 (M) 220/380 (M) 220/380 (H8) 220/380 (H2) 220/380 (X2) 220/380 (M) 220/380 (%2 220/380 (&2
AR2 23 WORKING PRESSURE BAR 140 140 140 140 140 140 140 140
43 82 TANK CAPACITY [} 160 180 200 200 20 220 280 280
71 27| MACHINE SIZE mm 1000 1400 x 2900(MAX.) | 1385x 1995 x 3157(MAX) 1485 X 2145 X 3503(MAX.) | 1506 x 2150 x 3B00(MAX.) 1505 %2203 x 4035(MAX.) ~ 1535 x 2450 x 4700(MAX.) | 1605 x 2650 x 4995(MAX)
2 XZZE  MOLD CLAMPBOLT = mm M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT)
714 5% MACHINE WEIGHT TON 25 33 35 38 41 43 52 6.1

X 2 A HIZ0| B 3A2 9I510f 0m9lo] HAE 4 UALICE

This specification is subjected to change for improvement without a notice,

MOLD EXPERT WORLD 15




:!!:lmé!!.'! (F)dociER
——

MVC-S| EXn&/XMal MVC AHEAY7

Series High performance vertical type injection molding machine

Q LH
v L
] n
000 |
HiZe| £3 L= ln el Le
] w/ql o
B AFTA SIS I NS o2 37t HRE2 A A o | &
— - ? I
= O|&AISSH 2K ZEoto] INSERTS| MY O|&7K| XtsME0| 7ts
m SIALO| HE|ES] B2 HAHIAICOZ CYCLE TIMES TS| 2 25 ME&2 %43} N 8 7277
= = @
® SHUT OFF TYPE Al2oZ QI5t L§7Ad SFAF A c A
- B
= H/= SLIDING #AloZ SZ6H INSERT ASAS0f Mgt
MVC=S A[2[Z Z[A] & | /05 SERIES SPECIFICATION MVC=S A|2[Z TABLE SIZE | /0 5 SERIES SPECIFICATION
D
= IS
pJES A B © Vo i E F 1 A B C D 3 F G
MVC35-S 1000 - 1500 2840 2270 908 495 MVC35-S 600 40 370 260 200 150 300
MVC60-S 1100 1200 1800 3115 2495 1118 520 MVC60-S 670 485 400 295 200 200 300
MVCB85-S 1200 1305 1900 3240 3890 1140 550 MVC85-S 690 520 450 320 200 200 350
MVC100-S 1300 1405 2100 3510 2815 1198 565 MVC100-S 750 550 460 340 200 200 350
MVC120-S 1400 1505 2200 3825 3045 1205 615 MVC120-S 850 600 555 360 200 200 400
MVC150-S 1400 1505 2200 4035 3195 1225 710 MVC150-S 960 640 640 370 300 300 450
MVC200-S 1535 1640 2550 4505 3625 1305 770 MVC200-S 990 700 675 400 300 300 450
MVC250-S 1650 1755 2750 4960 4060 1355 800 MVC250-S 1050 740 720 445 300 300 500

MVC—-S AJ2]X AFSE [ MVC-S SERIES SPECIFICATION

UNIT MVC35-S MVC60-S MVC85-S MVC100-S MVC120-S MVC150-S MVC200-S MVC250-S
A2 EfQl SCREW TYPE S| A|B|S|A | B|S|A|B|[S|A|B|S|A|B|S|A|B|S|A | B|S|A|GB
A2 A /SHHSCREWDAMETER  mm 16 18 | 2 22 25 28 28 32 3% |32 3F 40 B 40 45 40 45 50 50 55 60 60 6 70
A2t INJECTION PRESSURE KgCm2 2666 2106 1410 2683 2078 1656 2875 2201 1840 2201 1840 1409 2703 | 2069 1635 2069 1842 1638 1803 1629 1369 1631 1422 1202
0|2AZ8% INJECTONCAPACTY | Cm® 16 20 30 38 49 62 6 8 9 8 9% 126 202 264 334 264 334 412 442 535 636 586 699 802
AEE  INJECTION RATE Cm¥sec 70 89 132 70 90 113 106 138 | 165 138 165 215 207 271 342 271 304 342 311 344 409 356 401 | 458
AEZZ INJECTION WEIGHT g 14 18 | 27 3 44 55 55 72 87 72 8 | 113 182 238 301 238 301 371 398 481 5713 582 627 | 701
A& AE23 INJECTION STROKE mm 80 100 100 100 100 210 225 230
Z AE23  NOZZLE STROKE mm 20 220 240 250 250 250 280 280
A32 384 SCREWREVOLUTION | rpm 0~300 0~300 0-300 0~300 0~300 0~300 0~300 1-300
SR  CLAMPING FORCE TON 3% 60 80 100 120 150 200 250
SR AE23 CLAMPNGSTORKE | mm = 230 (¥HZES) 230 (PHAER) | 240(FHRHR) 240 (PH2HS) 270(PHEHR) 270 (JHEHS) 300(FHEHR) 300(FHEHR)
A 38 MOLD THICK.(MIN) mm 205 (235) 220(270) 220 (260) 220 (260) 325 (405) 325 (405) 350 (425) 350 (425)
04 8 MOLD THICK.(MAX) mm 270 (300) 310(360) 310(350) 310/(350) 435 (515) 435 (515) 460 (535) 460 (535)
0} 87 OPEN, STORKE(MAX) mm 475 (505) 540 (590) 560 (600) 560 (600) 710(790) 710(790) 750 (850) 750 (850)
EfOJHE 42| TIEBAR DISTANCE mm 370x 260 400x295 540 %420 540x 420 640x370 640370 700x 450 700x 450
OI®Ef ££2  EJECTOR FORCE TON 17 27 27 27 37 37 43 43
OfXlEf AE23 EJECTORSTORKE | mm 50 50 75 75 110 110 120 120
ZS7| 22 MOTOR CAPACITY Kw 11 11 15 15 16 15 2 2
S|E| 82 HEATER CAPACITY K 478 478 4.78 478 7.78 10.3 103 103
A2 F2F  WORKING VOLTAGE v 220/380 (R2) 220/380 (R2) 220/380 (R2) 220/380 (R2) 220/380 (K1) 220/380 (R2) 220/380 (X2 220/380 (M2
AR 2421 WORKING PRESSURE BAR 140 140 140 140 140 140 140 140
43 82 TANK CAPACITY [} 160 180 200 200 20 220 280 280
7171 27| MACHINE SIZE mm 1000 1400 x 2900(MAX.) | 1385x 1995 x 3157(MAX) 1485 X 2145 X 3503(MAX.) | 1506 x 2150 x 3B00(MAX.) 1505 %2203 x 4035(MAX.) ~ 1535 x 2450 x 4700(MAX.) | 1605 x 2650 x 4995(MAX)
28 HZ ZE  MOLD CLAMPBOLT | mm M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT)
7171 52  MACHINE WEGHT TON 25 33 35 38 44 43 52 62

X 2 M2 FZ0| 22 SIS 9fsiof ofmRlo] 2 4 UALICE
This specification is subjected to change for improvement without a notice,

16| (F)

n2

10/ & MOLD EXPERTWORLD | 17

4%
El)




MVC-SL| X2&/XXa MVC AREA%7)

High performance vertical type injection molding machine

=
- EW°I °JEIES1 42 FrlYAo= CYCLE TIME°| CHE QO 2 AAS F|As}
" SHUT OFF TYPE AfBo= QI5t L1y &kt
= A}/ SLIDING HAloz 22f5t INSERT AEA-| XE

-

:!o'.!x.é!!.'! (F)dociER
——

®
[ —_—
et || I
c | 000 C Wl ¢ J’J U
- ) [l [l _—
8 o o o | i ]
] [HI
E ‘ D D
w i T 1] i
i t = =
w| o
[ 1 1 1 e
A D 4
B
MVC-SL AI2[Z Z[AH Xl | 1005 SERIES SPECIFICATION MVC-SL A|B[Z TABLE SIZE | MV0-SL SERIES SPECIFCATION
E
= =

115 A B C D Max Vin F G 13 A B C ) E

MVC85-SL 1200 1400 1800 1800 3235 2585 1135 550 MVC85-SL 1000 400 500 280 280

MVC100-SL 1300 1400 1800 2000 3505 2810 1193 565 MVC100-SL 1100 400 500 280 280

MVC120-SL 1400 1600 2000 2100 3820 3040 1200 615 MVC120-SL 1250 500 600 280 280

MVC150-SL 1400 1600 2000 2100 4035 3195 1220 710 MVC150-SL 1250 520 600 280 280

MVC200-SL 1535 1800 3100 2450 4500 3620 1300 770 MVC200-SL 1650 550 700 350 350

MVC250-SL 1650 1800 3100 2650 4955 4055 1350 800 MVC250-SL 1750 650 700 400 400

MVC=SL AI2[Z AFZE | MVC-51 SERIES SPECKICATION

UNIT MVC35-SL

MVC60-SL

MVC85-SL

MVC100-SL

MVC120-SL

MVC150-SL

MVC200-SL

MVC250-SL

A2 Etel SCREW TYPE S A B S A B S A B S A B S A B S A B|S| A B S A B
A2 Z/SHHSCREWDIAMETER  mm 16 18 | 22 22 25 28 28 32 35 | 32 3 40 B 40 45 40 45 50 50 55 60 60 6 70
AEEY2! INJECTION PRESSURE KgCm 2666 2106 1410 2683 2078 1656 2875 2201 1840 2201 1840 1400 2703 | 2069 1635 2069 1842 1638 | 1803 1629 1369 1631 1422 1202
0|ZAZ8% INJECTONCAPACTY | Cm® 16 20 30 38 49 62 6 8 9 8 9 126 202 264 334 264 334 412 442 535 636 586 699 802
AES  INJECTION RATE Cm¥sec 70 89 132 70 = 90 113 106 138 165 138 165 = 215 | 207 @ 271 342 271 304 342 311 344 409 36 401 | 458
AEZZ INJECTION WEIGHT g 14 18 | 27 3 4 55 55 72 8 72 8 113 182 238 301 288 301 371 398 481 513 582 627 | 701
A& AE23 INJECTION STROKE mm 80 100 100 100 100 210 25 230

Z AEZ3  NOZZLE STROKE mm 220 220 240 250 250 250 280 280
A32 3[F4 SCREWREVOLUTION | rpm 0~ 300 0~300 0-300 0~300 0~300 0~300 0~300 0~300
%2 CLAMPING FORCE TON % 60 80 100 120 150 200 250

S AE23 CLAMPNGSTORKE | mm = 230 (¥HZXS) 230 (BExH3) 240 (YHANS) 240 (BHXNS) 270 (FRXAS) 270 (HHXNS) 300 (FEXNS) 300(PHEH3)
34 28 MOLD THICK.(MIN) mm 205 (235) 220(270) 220(260) 220 (260) 325 (405) 325 (405) 350 (425) 350 (425)
A4 38 MOLD THICK (MAX) mm 270 (300) 310(360) 310 (350) 310/(350) 435 (515) 435 (515) 460 (535) 460 (535)
|t 7 OPEN. STORKE(MAX) mm 475 (505) 540 (590) 560 (600) 560 (600) 710(790) 710(790) 750 (850) 750 (850)
EfolHt 72|  TIEBAR DISTANCE mm 370%260 400%295 540%420 540x 420 640%370 640370 700X 450 700x 450
Of®Ef 252 EJECTOR FORCE TON 17 27 27 27 37 37 43 43
Of}lEf AEZ3 EJECTORSTORKE | mm 50 50 75 75 110 110 120 120
27| 22 MOTOR CAPACITY K 11 11 15 15 15 15 2 2

5|E| 82 HEATER CAPACITY Kw 478 478 478 478 7.78 10.3 103 103

AR 2 WORKING VOLTAGE v 220/380 (M) 220/380 (M) 220/380 () 220/380 (H8) 220/380 (R2) 220/380 (M) 220/330 (8) 220/380 ()
A2 @2 WORKING PRESSURE BAR 140 140 140 140 140 140 140 140

B3 82 TANK CAPACITY [} 160 180 200 200 20 220 280 280

717 27]  MACHINE SIZE mm 1000 1400 x 2000(MAX,) | 1385 1995 x 3157(MAX) 1485 x 2145 x 3503(MAX.) | 1505 x 2150 x 3800(MAX.) ' 1505 x 2203 x 4035(MAX.) | 1535 x 2450 x 4TO0(MAX.) | 1605 x 2650 x 4995(MAX.)
2 HZEE  MOLD CLAMPBOLT = mm M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT)
7171 E  MACHINE WEIGHT TON 25 33 35 38 44 43 52 6.1

X 2 A2 HEl 52

S Sfstof olnglo] w4 AUsUC

This specification is subjected to change for improvement without a notice,

MOLD EXPERT WORLD 19




:!ngw (FldolHE+
—~—

- AFEAIGE 7 =
mvp-2ms) MVP—2MS BMC o7 |
SerleS High performance vertical type injection molding machine ¢
N = = —
| é A g q
= = == [ — i == é
x'"EQ-I :Q L I F—V‘
u o = EFRERE k|
= QAN =L Z|x2 JH&/ToKst Q= DOUBLE BMC 715 m N — K
= TWO MOLD TYPE 22 1x 2% AZ ARt 50 Et 28 2ied 7ts ) | \ | il 17 ﬁ’ﬁ H’ L
= ZI7| CI2 RIES SAlll At 7k 4 - LT s s
E|E /

= 13| HE 3E2E g4 &Y 7k5510 CYCLE TIME ©= % CAPACITYZH 37t

_ _ MVP-2MS AI2[ZX Z[7 A ",34 MVP-2MS SERIES SPECIFICATION
= SERVO MOTOR ZEZo2 of x| 22 st [21= 71 HE /

= 29| 9 RBHE} LAE0] 0} BRI ARO] B2l I L e e ML
MVP100-2MS 2350 3230 3900 3845 2995 1330 710 970
MVP120-2MS 2780 3280 4050 3865 3015 1350 730 1070
MVP150-2MS 3210 3370 4100 3885 3035 1380 750 1180

MVP-2MS A|2|X TABLE SIZE | M/P-2MS SERIES SPECFICATION

715 A B C ) E F (€] H | J
MVP100-2MS 960 640 645 375 150 50 300 50 M20 580
MVP1202MS 1060 690 650 3% 180 50 320 50 M20 600
MVP1502MS 1170 730 735 405 200 50 340 50 M20 630
MVP-2MS A[B|Z AFSE | /P28 SERIES SPECIFICATION
MODEL UNIT MVP100-2MS MVP120-2MS MVP150-2MS MVP200-2MS
A2 7 SCREW DIAMETER mm 50 50 50 50
EZ3H 4 PLANGER DIAMETER mm 90 90 90 90
AFEY2 INJECTION PRESSURE Mpa 58 58 58 58
0|2AE2  INJECTION CAPACTY | Cm? 1900 1900 1900 1900
O o13  PRESSURE MPa 56 56 56 56
2% 22 PRESSURE CAPACITY L % k) 3% 3%
AEE  INJECTION RATE Cmilsec 310 310 310 310
AEZZ INJECTION WEIGHT Kg 33 33 33 33
AE AEZ3 INJECTION STROKE ~ mm 370 370 370 300
= AEZ3  NOZZLE STROKE mm 300 300 300 300
A32 3[H4 SCREWREVOLUTION = rpm 0~100 0~100 0~100 0~100
SR CLAMPING FORCE TON 100 120 150 200
S5 AE23 CLAMPNG STORKE  mm 230 270 270 420
A 28 MOLD THICK.(MIN) mm 435 325 350 450
0§ 7§ OPEN. STORKE(MAX) mm 780 710 750 860
EfOJHt 72|  TIEBAR DISTANCE mm 645375 650 % 395 735 %405 715435
Ol®|Ef 23] EJECTOR FORCE TON 1 11 1 11
OfXEf AE23 EJECTORSTORKE  mm 110 110 110 150
257| 22F MOTOR CAPACITY Kw | 15Kw-2EA,3Kw-1EA = 15Kw-2EA,3Kw-1EA | 15Kw-2EA,3Kw-1EA  18KW(2EA) 12K 5.5Kw(2EA)
5|E| 82 HEATER CAPACITY Kw 28Kw 28Kw 28Kw 48Kw
A2 M WORKING VOLTAGE v 220/380 220/380 220/380 220/380
A2 92 WORKING PRESSURE BAR 140 140 140 140
43 82 TANK CAPACITY [ 400 480 560 560
7173 27|  MACHINE SIZE mm 23503230 x 3845(MAX) | 2780x 3280 x 4050(MAX) | 2630x 4210x 3845 (MAX) = 2630x 4210 x 3845 (MAX)
28 XZZE  MOLD CLAMPBOLT = mm M20 M20 M20 M20
717 5% MACHINE WEIGHT TON 12 148 17 17

% 2 A2 HiECl B &g loto] ofnglo] HAE 4 USLICH
This specification is subjected to change for improvement without a notice.

2

20 | (F)HoHES MOLD EXPERT WORLD | 21




MVP-SL| =9 &210IE AME/JH7|

| Series High performance vertical type injection molding machine

€ | @ o
L. | <t |
] o o e [F=—=
IT =
HEel &3 Y =
LLI L
- - —_ — = D D
= AR SRR, 2B AS ERICE KX ARO| 8o . i o
= - ~ S = 1 [ [ B
" TAS] YB|EE] U HFEAIOR CYCLE TIMES TS, 9 2 A8 A} ! Je
- = o O
® SHUT OFF TYPE AF2O=Z QIst L7 SFA 3 = M
- = = = e
m %}/ SLIDING HAloZ 5&5H INSERT AFEEMH| At p & A
B
MVP=SL AI2[Z Z|H] H& | PS5 SERIES SPECHCATION MVP=SL A|2|= TABLE SIZE | MvP-S. SERIES SPECIFICATION
E
= =
713 A B (6 D Max Vi F G 715 A B © D E

MVP35-SL 950 1100 865 2000 1900 1680 930 420 MVP35-SL 950 320 400 220 220
MVP55-SL 1050 1275 900 2200 2100 1840 930 480 MVP55-SL 1000 360 420 250 250
MVP85-SL 1200 1400 950 2500 2250 1970 950 500 MVP85-SL 1020 400 500 280 280
MVP100-SL 1200 1400 950 2500 2250 1970 950 500 MVP100-SL 1050 400 500 280 280
MVP120-SL 1350 1625 1065 2750 2400 2050 975 620 MVP120-SL 1250 520 600 300 300
MVP150-SL 1350 1625 1065 2800 2500 2140 975 640 MVP150-SL 1250 540 600 340 340
MVP200-SL 1470 1850 1200 3000 2850 2450 1145 750 MVP200-SL 1650 580 700 350 350
MVP250-SL 1500 1850 1200 3100 2900 2500 1175 750 MVP250-SL 1750 640 700 380 380

MVP=SL Al2|ZX AFSF | vP-SL SERIES SPECIFICATION

UNIT MVC35-SL MVC55-SL MVC85-SL MVC100-SL MVC150-SL MVC200-SL MVC250-SL

A3 EfQ SCREW TYPE S| A|B|S|A|B|S|A|B|S|A|B|S|A|B|S|A|B|S|A B|S| A|GB
A2 Z/SHYSCREWDIAMETER = mm 18 | 25 | 28 28 3 35 35 40 45 40 45 50 45 | 50 55 50 55 60 55 60 65 60 65 70
AREQ2! INJECTION PRESSURE KgCme 1901 2007 1701 1882 1982 1695 2450 1922 1511 2355 1803 | 1508 2307 1874 1514 1828 1745 1554 1834 1544 1411 1761 1567 1485
0|2AE8% INJECTION CAPACITY | Cm® 62 88 | 101 8 | 108 139 189 239 325 212 289 321 255 339 401 315 393 477 398 477 571 399 478 572
AEE  INJECTION RATE Cm¥sec 97 99 111 108 117 120 5 74 | 9% 72 94 109 8 105 133 118 154 188 136 172 191 133 158 | 194
AEZZ INJECTION WEIGHT g 51 71 84 77 97 19 71 225 280 184 254 311 224 280 356 281 364 428 351 431 502 32 43 503
A& AE23 INJECTION STROKE mm 160 180 200 200 200 200 200 200

=Z AE23 NOZZLE STROKE mm 180 200 250 250 300 300 300 300
A32 3|4 SCREWREVOLUTION | rpm 0~300 0~300 0-300 0~300 0~300 0~300 0~300 0~300
32 CLAMPING FORCE TON 35 55 8 100 120 150 200 250

&H AE23 CLAMPNG STORKE | mm 20 260 280 280 350 360 400 400

A 28 MOLD THCK,(MIN) mm 160 180 220 20 300 320 350 350

A/ &7 OPEN. STORKE(MAX) mm 380 440 500 500 650 680 750 750
OfMEf 253 EJECTOR FORCE TON 27 27 27 27 43 43 43 43
OfMEf AE23 EJECTORSTORKE | mm 60 8 100 125 150 180 200 200
HE7| 8 MOTOR CAPACITY Kw 11 i 15 15 18 18 24 30

5|E| 82 HEATER CAPACITY Kw 478 478 65 65 75 9 10 10

A2 HQ WORKING VOLTAGE v 220/380 (M) 220/380 (112) 220/380 (82) 220/380 (%2) 220/380 (82) 220/380 (%2) 220/ 380 (B2) 220/380 (X2)
AR2 @2 WORKING PRESSURE BAR 140 140 140 140 140 140 140 140

B3 82 TANK CAPACITY [} 180 180 240 280 300 350 540 610

7171 37]  MACHINE SIZE mm | 1100x2000x1900  1275x2200x2100 = 1400x2500%2250 = 1400x2500x2250 | 1625x2750%2400  1625x1065%2500 = 1850x3000%2850 ~ 1850x3100x 2900
28 M2 EE  MOLD CLAMPBOLT | mm M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT) M16 (T-BOLT)
714 5%  MACHINE WEIGHT TON 25 33 44 52 57 65 76 82

X 2 Afot2 20l 2 B4 istol ofmgiol ¥ 4 UBLICE
This specification is subjected to change for improvement without a notice,

22 | (F)Ho|cER MOLD EXPERT WORLD | 23




MVP-SLC| MVP ArE/d%7I

Series High performance vertical type injection molding machine

n ots Al 8 AEEIYN C- FRAMES AR5 Aol 20|
= C¥ TYPE2| FRAME A2 2 Efo[Hiol| 2ot 5 SIZE Mgt & MHR 7H40] ¢S
UM MMIAC SHYAR AIEA| 52X

=203,

» X}/ SLIDING dtAloz 2xI5H INSERT AIEAS 0| M3t

moLo EWORLD

UL

:mg!'!’ (F)dociER
——

—
M-

O

o T

il
()

}
T
!

£ |
B

g
1
A

MVP=SLC AIB[Z Z[A FI&l /1/r-S.C SERIES SPECIHCATION

MVP55-SLC 720 1495 1950
MVP90-SLC 1000 1600 950 2700 2350 980 510

MVP-SLC A[2|X TABLE SIZE /MvP-5LC SERIES

MVP55-SLC 950
MVP90-SLC 1050 440 500 300 300 260

MVP=SLC A[2|Z AFZF | 1F-sic s TioN

MODEL UNIT MVP55-SLC MVP90-SLC

A3S EtY SCREW TYPE

A32 7 [ 23K SCREW DIAMETER | mm 28 k) 3% 2 3% 40
AEQ2 INJECTION PRESSURE KgCm2 1882 19824 1695 1881 2050 1960
0|2AZ8F INJECTION CAPACITY | Cm? 8 1086 139 115 199 257

AEE  INJECTION RATE Cm¥sec 108 177 120 87 107 114

AEZZ INJECTION WEIGHT q 7 97.7 119 108 180 233

A& AE23 INJECTION STROKE mm 135 195

=Z AE23  NOZZLE STROKE mm 250 280

A3Z 384 SCREWREVOLUTION | rpm 0~300 0~300

&H2  CLAMPING FORCE TON 55 90

8K AE23 CLAMPNG STORKE | mm 240 260

A 28 MOLD THCK.(MIN) mm 160 (155) 200 (195)

/ch &7 OPEN. STORKE(MAX) mm 395 455

Ef0|H} 742  TIEBAR DISTANCE mm

OfMEf 223 EJECTOR FORCE TON 27 39

OfME AE23 EJECTORSTORKE | mm 105 150

H37| 82 MOTOR CAPACITY Kw 12 15

5|Ef 8% HEATER CAPACITY Kw 804 104

AR H2t WORKING VOLTAGE v 380 380

AR2 @2 WORKING PRESSURE BAR 140 140

B3 82 TANK CAPACITY 0 180 260

717 37]  MACHINE SIZE mm 1730x2330x 1950 1900 x 2700 x 2350

S HZ EE  MOLD CLAMPBOLT | mm M16 M16

714 5%  MACHINE WEIGHT TON 4 52

X 2 A2 MBS B &S Hlotol ofm2lo] HAE 4+ LT
This specification is subjected to change for improvement without a notice.

MOLD EXPERT WORLD

25




HYBIRD SERVO SYSTEM

Sjo|Ha|E AjK AJAE]

=
n X~

= OfLIX| M2t 2 7[Et SAlE4 HIR| Hzl0f SRR AAE

SI0IE2|E ME AJARIS| EXH

Ut UF|HIE SERVO MOTOR®H SERVO CONTROLLERZ {¢
ME ALE7|2 Braist Mo] 52t At R ALE7 (2] {X| B4 &

22 Fofsts AL
(o]

o
=)
22 7 AlAE

N II°
o

M

ol

G

.I

= OLIX] HAED - Ut R AKSY| cht] M2 BF 50~65% M2 Et

" MSEA BT - DS U AR 52 50] 1450l SIS w3

" BTSN ST - A0l B4 H AS A30| 80|

" N BN ST} - HUHR Olet SSREO| B2 W24 AIBO| Uh

= XAS B4 52} - 7508 0[5t XAS Al

o ZHA BN T} - MY M2 W2 ASY 24, SAE4 B8 (E UE D w3

B10/E2|E AL AIAR T4 U HI0f 4]

" UEE /A ME ZEQ ME REIE T (
Hof5ks M2 E2t0(E ¢} S|HEEE

Al

Closed Loop H0{5t7| °I%._f ATt HU
LM, 0|3 fK, E2[0|3 2XIAE, C
Iy So= 11 @izg

IDZ

EERs

" AL dY2 Mo ZIES2{ZFE Servo

Controllerdf] {7 2™ £ X|F0|
2t Servo Motorg MO{EC2M
Servo MotorZ =& SYEHE=
QU EHSZHE Qol g2 HE| S|

SUT 2eimn

-

DAIKIN

HZRE FOT NS0l w2t 4, £
2 X
=

CIXIE & MEE20[H oL XI=Et HE

5t0|=2|= METE] 49| of

J—_,é-)l% A‘IEEE'I EE_"O |EE xo.lx |é>I-EH0'"A-I r:oulc:njec(io:‘ pressure-keeping e Material storage v cooling O;:e<n mod:e< Lift out>
1

500rpm7ix| 40ms7t AQE|H, Aladt
_ll- 7|-.LL1A‘IO§ II'O-IAl ; %olﬂ

CFA
=]
MHIES 7IEAIZLCE

|_

Energy Consumption

1 T

ger
o Pover consumpi aprtac aro g s recon
machin colng per fplastcecen machine.

Constant displacement pump system Variable displacement pump curve Electric hydraulic composited servo system

GEFRAN CONTROLLER SYSTEM

Hz2t HEED AJAE

H|Zgt SYSTEM E3

= Y LR PLC
" SN

= SA ZEO| Zyo Ji8y

" AAIZE 2N RIB

= SA ZEO| Zyo Ji8y

s S5t m2 sy Amego]

GEFRAN SYSTEM PROFILE

= GEFRAN SYSTEMZ AREX{oIA
STHESII XMZet 7[A Mo £R8S
MSELct.

™1 EfOII-Il%Ol PLC& E]:”Ell j_EHEl
HO|XIE XIS 2 MAst0 i

Al&siH ZxAQL(CH Modhus rcr
» IjE9| F7|=6.5" ~ 15" 7IX|
Cidstnd, E{X|A3 20t S5t Modhus:u
FIHEE 28 E= £2O2 MXY

2 QU&LICH

B 2YAAHLS GEODE 32H|E
Z2HA 7|gto|nf, Z|A 256MB
E2H Z|Ci 512MB2 RAMZ
AFEBILICE, CANopen | o

= 0|SEE0| 2AXS| HF| IRIoH, GDner
THO| Ql= HZIIRIZ ALSIRBLICH

= 2T29| XPe 7[HISH AAIZH Y
AAEIS 7171 20| Chat ioto 2
EtAL Z2UE AL THSEILICE \ )




